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1. During whose tenure as the Viceroy of India were the great Martyrs Bhagat Singh, Sukhdev and Rajguru hanged?
(A) Lord Curzon (B) Lord Irwin
(C) Lord Minto (D) Lord Chelmford

2. Assertion (A): Subhash Chandra Bose resigned from the office of the President of Indian National Congress in the
year, 1939.
Reason(R): Subhash Chandra Bose left the Congress to from the Indian Independence League in South-East Asia.
Select the correct answer using the code given below:
Codes:(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are individually true, but R is not the correct explanation of A
(C) A is true but R is false
(D) A is false but R is true

3. Chand Bibi, the famous Muslim ruler, belonged to which of the following kingdoms?

(A) Bijapur (B) Golconda
(C) Ahmednagar (C) Berar
4. Adding new unrelated product or services for present customers are called..............
(A) Horizontal diversification (B) Concentric diversification
(C) Conglomerate diversification (C) None of these

5. When was World Trade Organization set up by the member countries of the United Nations to promote trade among
countries?
(A) 1994 (B) 1995 (C) 1993 (D) 1996

6. Under which Article of the Indian Constitution, it is the duty of the Union Government to protect States against
external aggression and internal disturbance?
(A) Article 355 (B) Article 356 (C) Article 354 (D) Article 362

7. PERT stands for

(A) Program Evaluation and Review Theory (C) Program Evaluation and Review Technique
(C) Project Evaluation and Review Technique (D) Progress Evaluation and Review Technique
8. In 2008-09, ............ continued to be the major source of India's imports.
(A) Asia and ASEAN (B) EU
(C) North America (C) South America
9. The annual addition to India's population is almost equal to the total population of:
(A) Bangladesh (B) Australia
(B) Japan (D) USA
10. The preamble of the Indian Constitution was for the first time amended by the ...........
(A) 24th amendment (B) 42th amendment
(C) 44th amendment (C) None of the above
11. Which of the following acid is formed during the change of milk into curd?
(A) Acetic acid (B) Ascorbic acid
(C) Citric acid (C) Lactic acid
12. Who was the first Speaker of the first Lok Sabha?
(A) G.V. Mavalankar (B) C.D. Deshmukh
(C) Dr. S. Radhakrisnan (C) Pandit Govind Ballabh Pant
13. Which one of the following is not correct with regard to ethnicity and nationalism?
(A) Both trace common bonds across their members (B) Both distinguish between we and they

(C) There is unanimity among scholars today that both are imagined relations

(D) While nationalism tends towards Nation-States, ethnicity seeks the recognition of its distinct identity
14. According to the census (2011), the lowest literacy rate is in ..............

(A) Utter Pradesh (B) Madhya Pradesh

(C) Bihar (C) Arunachal Pradesh
15. Which of the following is not correctly matched?

(A) The Government of India Act, 1919 - Minto Morley Reforms

(B) The Cripps Mission-year 1942
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(C) The Government of India Act, 1935 - Provincial Autonomy
(D) The Cabinet Mission Plan - Year 1946
16. The main strategy adopted in the new economic policy of 1991 is .........
(A) Liberalization (B) Privatization
(C) Globalisation (D) All of the above
17. Match List-I with List-II and select the correct answer using the codes given below the lists.
List-I
(A) The States Comes into existence for the bare needs of life and continue to exist for the sake of good life.
(B) Rights are the conditions of social life without which no man can seek in general to be himself at his best
(C) Greatest happiness of the greatest number
(D) From each according to his ability to each according to his needs

List-II
(1) Harold Laski (2) Bentham
(3) Aristotle (3) Marx
Codes: (a) (b) (c) (d)
A)@HDE)E) B)3)2) (1) @)
OO D)@ 2) (1) B)
18. The first battle of Panipat was fought between.........
(A) Humayun and Shershah (B) Rana Sanga and Babur
(C) Akbar and Hemu (C) Ibrahim Lodhi and Babur
19. The first Indian State Government to start Lottery
(A) Goa (B) sikkim
(C) Kerala (D) Manipur
20. Salim Ali Centre for Ornithology and Natural History is located at .............
(A) Pune (B) Hyderabad
(C) Kerala (D)Coimbatore
21. How is the atmosphere, hydrosphere and lithosphere connected?
(A) Hydrological cycle (B) Nitrogen cycle
(C) Oxygen cycle (D) Carbon cycle
22. Where was Stockholm Conference held?
(A) Geneva (B) India
(C) Austria (D) Greece
23. What does the latest XP stand for in the product Microsoft XP?
(A) Extended Product (B) Extra Pampering
(B) Experience (C) Entry level product
24. Which country is the company Nestle head quartered?
(A) Sweden (B) Switzerland
(C) The Netherlands (D) USA
25. Right to vote is mentioned in the part of the constitution relating to ............
(A) Fundamental Rights (B) Union Legislature
(C) State (D) Election
26. oo refers to highly educated and skilled people who migrate from poor developing countries to wealthy industrial
countries.
(A) Direct Investment (B) Portfolio Investment
(C) Brain Drain (D) Transfer Pricing
27. Herpetology is a branch of science which deals with.
(A) Aves (B) Mammals
(C) Reptiles (D) Fishes

28. Where there is no provision in the partnership Deed regarding the dissolution of partnership, the firm is known
(A) Indefinite partnership (B) Partnership at will

(C) General partnership (D) Contingent partnership
29. When number of food chains are interlocked this is called ..........
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31.
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

(A) Food link
(C) Pyramid

Which country will host 2015-Cricket Word Cup?

(A) England

(C) NewZealand

[ am happy,............. ?

(A) amn't I

(C)is he

Mary went to England,....... ?
(A) didn't she

(C) does she

(B) Food chain
(D) Food Web

(B) Australia

(D) Both (A) and (B)

(B) aren't I
(D) am I

(B) did she

(D) doesn't Mary

Rewrite the sentence into indirect speech by choosing the correct answer:

"My mother wrote a letter ," John said
(A) John said that his mother writes letters?

(C) John said that his mother has written a letter

Raman said "I am eating an orange."

(A) Raman said that he was eating an orange
(B) Raman said that he has been eating an orange

Sita carried a bundle of books

(A) A bundle of books were carried by Sita
(C) A bundle of books was carried by Sita
Translate it into English

(A) English can be translated

(C) English should be translated

Choose one word for the underlined words:
Krishna gave up smoking.

(A) abolished

(C) staarted

The answer is_not clear.

(A) vague

(C) easy

Choose the correct word to fill up the blanks:

He ....... English very well.

(A) study

(B) speak

You had better ........... a doctor
(A) consult

(C) consulted

Would you mind ........... a letter.
(A) write

(C) writing

Choose the correct phrasal verb for the words underlined

Large people attended for the meeting.
(A) turned up

(C) turned off

Krishna can not tolerate with his wife.

(A) put down

(C) put accross

Choose a word having correct spelling:
(A) grammar

(C) gramar

(B) John said that his mother had written a letter?
(D) John said that he has been written a letter

(B) Raman said that he is eating an orange
(D) Raman said that he had eaten an orange
Rewrite the sentence into Passive voice by choosing the correct answer:

(B) A bundle of books is carried by Sita
(D) A bundle of books are carried by Sita

(B) English would be translated
(D) Let it be translated into English

(B) abandoned
(D) accelerated

(B) vivid
(D) difficult
(B) learn
(C) speaks

(B) to consult
(C) consulting

(B) writes
(D) wrote
(B) turned down

(D) turn over

(B) put on
(D) put up with

(B) grammer
(D) gramer

Choose a word having opposite in meaning for the words underlined
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The High Court convicted the accused but the Supreme Court...........

(A) accused (B) acquitted
(B) punished (D) set free
Raman is guilty but his wife is ...........

(A) punished (B) lazy

(B) innocent (D) courageous
Choose the correct tense forms:

He ........ abroad last year,

(A) went (B) whom
(©) go (D) had gone
It ..... raining since sixO' clock

(A) has been (B) had been
(C) was (D) is
Complete the sentence by choosing a word:

A cemetery is place ....... people are buried

(A) who (B) whom
(C) whose (D) where

Choose a word close to the meaning of the underlined word:
Like a colossus Gandhiji stands astride half a century of Indias History.

(A) gigantic (B) big
(C) dwarf
Choose the correct preposition: (D) tall

. I have been learning English....... 1999

(A)for (B)of (C)since (D) by

Fill up the blank using the correct word:

Antony is ..... his school days

(A) ruminating (B) devoid of
(C) dogged (C) a trifle

If were a bird, I ...... fly away.

(A)will  (B)would (C)shall (D) would have

would you like ........ orange?

(A)an (B)a (C)the (D)of

One of the boys ...... absent today.

(A)are (B)were (C) is (D) have

Suppose you are told to take all the vowels out of the alphabet. Which would then be the 11th letter?
Ak B)n (C)p (D)m

Find the odd out:

(A) Uranus (B) Neptune
(C) Moon (D) Earth
What is the median of the following data? 23,32,24,35,36,37,27

(A)27 (B)35 (C)32 (D)30
7,9,10,49,81,........
(A) 100 (B) 162 (C)102 (D) 99

What is the rational number equal to 0.712712712................. a

(A) 712/10 (B) 712/1000

(C) 712/999 (D) 7127/9999

Select a similar pair:

DBPS:AEQT::?

(A) KMVN:JNUO (B) MVMU:NUMJ

(B) KNMV:UNJM (C) RTKL:BLTR

How many 3s are there in the following number series which are preceded by 5 and followed by 4 if

3123453478931534267
(A) one (B)two (C) three (D) four
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Some girls are standing in a row. If Labeeba who is 10th from the left and Muhsina 9th from the right interchange
their positions, Labeeba becomes 14th from the left, How many girls are standing in the row?

(A)23 (B) 19 (C)24 (D) 22

If A means addition (+) B means subtraction (-) C means multiplication (x) and D means (/) what is the value of
expression: 6 BI2A30C6D37?

(A)66 (B)12 (C)54 (D) 33

In a certain code language ALBUM can be written as EPFYQ. How the word CRICKET be written in that code
language ?

(A) GVMGOIX (B) PQSTMOL (C) YQFRIET (D) MSKMVXO

If 9+3-3=30 and 4+2-5=13 what is 7+4-8

(A)30 (B)36 (C)40 (D)46

The average age of 30 boys in class and a teacher is 15. If the age of the teacher is 30 year what would be the
average age of boys only ?

(A)15 (B)14 (C) 13 (D) 16

In at certain code language LOVE is written as 5321 and WOMEN is written as 63718. How would the word MOVE
be written in that code language?

(A) 6321 (B) 7321 (C) 8321 (D) 1235

In a cricket match A, B and C together scored 47 runs, B and C together scored 27 runs and A and C together scored
35 runs. Find out individual score of A, B and C respectively.

(A) 16,10,21 (B) 12,26,9 (C)20,12,15 (D) 15,15,17

Bismi places a watch on a table so that hour hand points towards south at 6pm. On what direction will the minute
hand point at 9.30 pm?

(A) East (B) West (C) North (D) South

Sania got 182 marks and failed by 18 marks. To pass she had to secure 40% marks. What were the max marks ?
(A) 300 (B)400 (C)500 (D) 600

What is the technique of long term planning for proposed capital outlays and their financing ?

(A) Discounted cashflow (B) Pay back method

(C) Cut off rate (D) Capital budgeting

A seller wants a profit of 20% on the sales. Thus the percentage he should add to the cost price will be:

(A) 120% (B) 25% (C) 20% (D) 125%

Directions (Question: 74-75) Read the following passage and answer.

A group of students live in a house divided into one room per floor. Abu is in the room below, Aravind and
Mubarak is in the room above Ummer. Ummer is in the room below Abu and Aravind lives with Rahul. Musin lives
on the top floor.

Who else share a room ?

(A) Aravind and Rahul (B) Muhsin and Rahul
(C) Abu and Ummer (D) Muhsin and Ummer
Who is in the bottem room?

(A) Aravind (B) Ummer

(C) Muhsin (D) Mubarak

Directions(Question 76-77). The following questions are based on substitution of letters according to the instructions
and conditions given below.

2 |5 8116 |4 0|9 3|7

K|O |T|J|N U P L MR

(i) If the number starts with a non zero odd digit, that odd digit is codded as $
(ii) If number is starts with an even digit that even digit is codded as #
What will be the code for 56935817

(A) SNLMOTI (B) LMOTJNS$
(C) KTJL#NR (D) #MJTLNP
Which of the following number is the code for SMRTKOU?

(A) 3378254 (B) 4378542
(C) 0378245 (D) 6437825

Which of the following statement about the energy in a quantum is true ?
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(A) Varies inversely with frequency (B) Varies directly with frequency

(C) Same for all frequency (D) None of these

A definite amount of mechanical work is needed to produce a definite amount of heat and vice versa this given by:
(A) First Law of thermodynamics (B) 2nd Law thermodynamics

(C) Law of degradation of energy (D) Clausius statement

The temperature of two cups of coffee are 90°C and 75°C . If the time taken for the first cup to cool from 90°C to
80°C is 15 minutes, then the time taken for the second cup to tool from 75°C to 65°C will be:

(A) More than 15 minutes (B) 15 minutes

(C) Less than 15 minutes (D) None of these

When India became the member of IMF, the initial par value of Indian Rupee was fixed at ...... grams of gold
(A) 0.26801 (B) 0.364 (C)0.359 (D) 0.865

The headquarters of 'Coirfed' is located at ........

(A) Kottayam (B) Alappuzha (C) Palakkad (D) Trissur

Which of the following is the oldest board under the Department of Commerce ?

(A) The Rubber Board (B) The Tea Board

(B) The Coffee Board (D) The Tobacco Board

The stock market index of London stock market is referred to as .............

(A) Footsie (FTSE) (B) Sensex (C) NIFTY (D) Bullish

Who is the author of 'Harry Potter' series?

(A) K.K Roul (B) Jane Austin

(C) Harriet Beecher Stowe (C) J.K. Rowling

Which of the following is the first story in 'Sherlock Holmes' series ?

(A) The Sign of Four (B) The Six Napoleons

(C) The Red Headed League (D) A Study in Scarlet

Zoos are examples for ..........

(A) insitu conservation (B) Invivo conservation

(C) Exsitu conservation (D) Exvivo conservation

The word Tsunami is derived from two Japanese word. Identify the words

(A) Tsu (big) and nami (flow) (B) Tsu (Harbor) and nami (wave)

(C) Tsu (Big wave) and nami (vave) (D) Tsu (big) and nami (wave)

Which one of the following periodicals was published by Mahatma Gandhi during his stay in South Africa ?
(A) Afrikanes (B) Indian Opinion

(C) India Gazette (D) Navjivan

Which one of the following is correct with to all theorists of social contact ?

(A) Erasing the distinction between law and morality (B) The principle of separation of powers

(C) Formation of public authority with social consent (D) belief in innate rights
The most significant Act which declared that the sovereignty of the British Empire in India was in the hands of the
British Crown was .............

(A) The Company's Charter Act of 1833 (B) The Company's Charter Act of 1853
(C) The Indian council Act of 1861 (D) The Indian council Act of 1892

The pioneer of Indian Renaissance was .......

(A) Swami Vivekananda (B) Swami Dayananda Saraswati

(C) Dadabhai Nauraji (D) Raja Rammohan Roy

Bio-magnification means ......

(A) Fast spreading of cancer cells in the body

(B) Increasing the amount of pesticides in the organisms of successive trophic level
(C) To see the microscopic parts of the body by microscope

(D) Sudden increase in the number of the individuals of a species in a specific area.
What was the name of india's first Legislature ?

(A) Parliament (B) Union Parliament
(C) Constituent Assembly (D) National Assembly
In first Lok Sabha, how many seats were .........

(A) 500 (B)499 (C) 488 (D) 495
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96. The longest highway in India runs from .......

(A) Kolkata to Jammu (B) Jammu to Kanyakumari
(C) Ambala to Nagarcoil (D) Varanasi to Kanyakumari
97. The Cricketer who became the brand Ambassador of 'Indigo Nation' is .........
(A) Sachin Tendulkar (B) Virendar Sehwag
(C) Anil Kumle (D) M.S. Dhoni
98. Which country won the ICIC Twenty-20 World Cup Cricket in 2010 ?
(A) Sri Lanka (B) England
(C) Pakistan (D) New Zeland
99. Plants which grow in shade are called ........
(A) Sciophytes (B) Heliophytes
(C) Oxylophytes (D) Epiphytes

100. Mangala-Bhagyam, Shakti and Aishwarya ........
(A) Are three schemes for upliftment of scheduled castes girls
(B) Are oil fields discovered in Barmer-Sanchore basin.
(C) Are three universities established in private sector.
(D) Produce natural gas form Jaisalmer basin to supplay Ramgah power plant.
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PROVISIONAL ANSWER KEY

1 B|2 C/|3 C/ 4 B 5 B/ 6 A/ 7 B|8 A9 B| 10 B
1 D/ 12 A/13 B|14 C| 15/ A|16/ D|17 | C |18 D |19 | C| 20 D
21 |A 22| -123 C|24 B|25|D|26|C |27 | C| 28  B|29 D| 30 | -
31 B|32 A3 B|34| A3 C|36 D|37 B|38 | A 39 D| 40 | C
41 | C |42 A|43 D |44 A|45 B |46 C |47 A 48 A |49 D | 50 A
51 C|52 A|53 B|/54|/A|5 C|5 B |57, C|5 C|5 A| 60 C
61 | A|62|  B|63 D|64 C| 65 A|66 B|67 -|68|B 69 C| 70 D
71 C|72,-173/C|74|/A|75  B|76 A|77 A 78 B |79 A| 80 A
81 A8 B|8 C|84 A8 D|8 D|8 C|8 B 8 B| 9% |C
91  A|92 D|9B3 | B|94 C|9 =-]96 D| 97 C| 98 B |99 A 100 B

Correct answer

22. Swedan

30. Australia- NewZealand
95. 489
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